[ Efficiency vs vertpos |
- 05

20.45
4
2 04
(8]
$0.35
0.3
0.25
0.2
0.15
0.1
0.05

ettic

1.0

Ratio

R LS LRRR RARRNRARRE RRR)

o
©
a

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
Efficiend —— pom_v0001_R000000001__Global__CMSSW_X_Y_Z_ RECO

~ 0.5
$0.45
2]
> 0.4
)
£0.35
03
0.25
0.2
0.15 : ; : ; :
0.4 +*+ ------ e ++{ -------
SRS YT S SRR T 1 SR
0.0+ #++++: e +++++ ,

Vs

ettici

Ratio
="

[y

-20 -10 O 10 20 30
TP vert z (cm)

o

13
oS
S

~ 0.5

P
o
S
]

I

etficiency vs Sim.

PO -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


